L’ Arrondissement (I)

Arrondissez chaque nombre ci-dessous a la centaine pres.

949 462 688 496
755 930 838 494
760 249 1089 8332

1 665 8459 2700 2580
4 468 8734 7962 5328
83 185 24 187 68 690 71782
84612 67 691 97820 24708
90 602 70492 912268 407 183
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L’ Arrondissement (I) Solutions

949
900

755
800

760
800

1 665
1700

4 468
4 500

83 185
83200

84612
84 600

90 602
90 600

Arrondissez chaque nombre ci-dessous a la centaine pres.

462 688
500 700
930 838
900 800
249 1089
200 1 100
8459 2700
8500 2700
8734 7962
8700 8 000
24 187 68 690
24200 68 700
67691 97820
67700 97 800
70492 912268
70500 912300

496
500

494
500

8332
8 300

2580
2600

5328
5300

71782
71 800

24708
24700

407 183
407 200
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